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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
Xl 48,826 109, 463] 53,214] 56,249 23]  -62] 50 49 ool -12]  420] 432 0 111 111
HI—TH 699 1,479 722 757 1 -1 -1 2 3 0 5 5 0 1 1
FLl T H 563 1,297 647 650 4 6 -1 0 1 0 6 6 7 7 0
LI =TH 469 1,049 505 544 6 11 -1 0 1 7 9 2 5 5 0
JulAEH 1L, 731 3,825] 1,874| 1,951 11 16 -3 2 5 7 20 13 12 13 1
Sk —TH 474 930 434 496 0 -1 0 0 0 0 1 1 -1 0 1
. = 723 1,689 812 877 5 3 -2 0 2 7 8 1 -2 1 3
SR —TH 556/ 1,288 614 674 1 0 0 1 1 0 7 7 0 0 0
S AT H 393 872 432 440 -3 -6 0 0 0 —6 2 8 0 0 0
o h ] B 612 1,322 638 684 -5 -3 0 1 1 0 11 11 -3 1 4
BN T B 238 501 248 253 -1 -3 0 0 0 0 3 3 -3 0 3
ARt TH 641 1,635 795 840 6|  —11 —4 0 4 —4 0 4 -3 0 3
oA\ T H 383 834 385 449 -2 -5 0 1 1 -5 2 7 0 0 0
IV B 621| 1,469 720 749 1 -1 -1 0 1 0 7 7 0 0 0
S e El 4,641 10,540 5,078 5,462 -10 -27 -7 3 10 -8 41 49 -12 2 14
e n—1H 360 813 401 412 -3 -1 1 1 0 -1 1 2 -1 0 1
sk T AL 1,014 2,092 1,050 1,042 1 1 -5 0 5 5 13 8 1 2 1
HHk o —TH 678|l 1,385 682 703 2 1 -1 0 1 2 6 4 0 0 0
Wk A AaErl 2,0520  4,290] 2,133] 2,157 0 1 -5 1 6 6 20 14 0 2 2
Mt A — T H 5511 1,238 601 637 0 3 -1 0 1 4 8 4 0 0 0
ek R _TH 364 924 466 458 5 6 1 2 1 3 4 1 2 2 0
Mk R =TH 249 541 280 261 -1 -2 0 1 1 -2 3 0 1 1
ik L G| 565| 1,304 667 637 0 -2 0 0 0 -2 4 0 0 0
msEr aaEtl 1,729 4,007 2,014 1,993 4 5 0 3 3 3 15 12 2 3 1
JCE g 373 847 406 441 -2 -2 0 0 0 -2 1 3 0 0 0
HOEEN— T H 213 434 219 215 0 0 0 0 0 0 2 2 0 0 0
HOEE T H 428 941 464 477 5 8 0 0 0 9 9 0 -1 0 1
HoEEI =T H 690 1,675 821 854 -1 -7 0 0 0 -3 6 9 —4 1 5
HOEEAN T H 804 2,026] 1,002 1,024 0 0 -1 1 2 0 6 6 1 2 1
HOERS T H 443 1,036 524 512 1 4 0 0 0 4 4 0 0 0 0
HOEEIS T H 397 874 428 446 7 6 —4 0 4 10 10 0 0 0 0
HoEEOETH 676| 1,450 708 742 -2 -2 0 0 0 0 6 6 -2 0 2
HOEEHOSER 3,651 8,436| 4,166| 4,270 10 9 -5 1 6 20 43 23 -6 3 9
PEEE | 1,517 2,775 1,327 1,448 —4 -3 -5 0 5 2 13 11 0 0 0
FHIAR 302 635 328 307 1 3 0 0 0 3 3 0 0 0 0
EE g —T 5471l 1,114 515 599 1 1 0 1 1 0 1 1 1 1 0
EE g — T 258 520 261 259 -2 -2 -1 0 1 5 5 0 -6 1 7
R =T H 532 1,174 583 591 5 10 1 1 0 2 5 3 7 7 0
EESN R T H 659 1,308 621 687 5 2 2 0 3 9 6 0 0 0
EEP g R T H 238 539 269 270 0 0 0 0 0 0 0 0 0
EER A2t 2 234l 4,655]  2,249| 2,406 14 2 4 2 10 20 10 2 9 7
EEIARRT— T H 707l 1,396 659 737 =31 -32 -1 0 i 32 27 59 1 4 3
EEIARRT T H 670/ 1,282 592 690 1 -1 -1 0 1 1 6 5 -1 0 1
EEOOARRT AR 1,377 2,678 1,251 1,427 -30[ -33 -2 0 2l  -31 33 64 0 4 4
RPN 272 772 421 351 0 0 0 0 0 1 2 1 -1 0 1
WHR—TH 725 1,641 809 832 2 1 -2 0 2 2 9 7 1 1 0
PR T H| 1,738 3,943 1,901] 2,042 0 1 0 3 3 -7 6 13 8 8 0
WHR=TH 872|l 2,208] 1,077| 1,131 -1 -2 -1 0 1 4 4 0 -5 0 5
HHRIT H 497 1,198 565 633 -2 —4 -1 0 1 -1 1 2 -2 0 2
HPREEH 3,832 8,990| 4,352 4,638 -1 —4 —4 3 7 -2 20 22 2 9 7
HiR—TH 724 1,588 773 815 2 2 -1 0 1 4 4 0 -1 0 1
LR - TH 942| 2,224| 1,115 1,109 4 3 0 0 0 6 11 5 -3 2 5
PR =TH 507 1,069 549 520 -2 0 0 1 1 0 11 11 0 0 0
dbriRaaH 2,173 4,881  2,437| 2,444 4 5 -1 1 2 10 26 16 -4 2 6
T IROBTHT 330 813 391 422 0 -1 1 1 0 -1 2 -1 0 1
WEl 1,624 5,093 2,262 2 831 21 24 —4 3 7 22 30 6 8 2
M E T H 743 1,707 814 893 -1 3 -1 1 2 -2 4 6 0
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FYlE 1T H 760 1,800 900 900 -3 =10 0 0 0 -5 2 7 -5 1 6
MoE =1 H 645 1,504 745 759 -1 1 -2 0 2 1 4 3 2 4 2
A EN T H 932|  2,191| 1,032[ 1,159 -2 -3 0 1 1 -9 2 11 6 6 0
RCENNE 653 1,478 728 750 -5 -8 -1 1 2 —4 1 5 -3 0 3
MAEST H 417 969 451 518 0 -2 0 0 0 -2 1 3 0 0 0
mAlEaE 4,150(  9,649] 4,670 4,979 -12|  -19 —4 3 7 -21 14 35 6 17 11
VEPIe S 566 1,134 552 582 —4 -5 1 1 0 —4 0 4 -2 0 2
e —TH 315 681 325 356 -2 —4 0 1 1 -3 1 4 -1 0 1
i — T H 596 1,317 625 692 -5 -6 0 1 1 -5 0 5 -1 0 1
A gl 911l 1,998 950 1,048 -71 __ -10 0 2 2 -8 1 9 -2 0 2
E— 1 H 311 688 352 336 0 1 0 0 0 -2 0 2 3 3 0
B — T H 656 1,379 648 731 -3 -7 0 0 0 -3 3 6 —4 1 5
=T H 4131 1,071 533 538 1 -1 0 0 0 1 4 3 -2 0 2
EAE| 1,380 3,138 1,533] 1,605 -2 -7 0 0 0 —4 7 11 -3 4 7
e —TH 384 914 428 486 1 -1 0 0 0 -1 1 2 0 0 0
WHE T H 4471 1,082 540 542 2 4 -1 0 1 1 5 4 4 4 0
HHE T H 830[ 2,036 1,044 992 0 2 -3 2 5 2 6 4 3 3 0
W& T B 4441 1,016 494 522 -3 -5 -1 0 1 —4 0 4 0 0 0
B E ] H 827 1,795 884 911 -3 -5 -3 1 4 1 8 7 -3 1 4
HHIENT H 245 508 256 252 0 -2 0 0 0 -2 1 3 0 0 0
HESEr 3,177 7,351| 3,646 3,705 -3 -7 -8 3 11 -3 21 24 4 8 4
<HWE—TH 599 1,345 649 696 0 —4 -1 0 1 6 12 6 -9 0 9
<HEIL—TH 709 1,476 716 760 -1 -1 -1 0 1 —4 4 8 4 7 3
SHBEIL=TH 512 1,123 550 573 -1 —4 -1 0 1 -3 1 4 0 0 0
<HEWLPTH 5700 1,174 575 599 -1 -1 -3 0 3 2 4 2 0 0 0
<O T H 280 618 336 282 1 -1 1 1 0 -3 0 3 1 1 0
<WEEEH 2,670 5,736 2,826 2,910 -2 -11 -5 1 6 -2 21 23 —4 8 12
WIE AR —TH 791 1,688 827 861 -5  -13 -1 1 ol -10 6 16 -2 4 6
WIEAR T H 481\ 1,137 585 552 0 0 1 1 0 -1 1 2 0 0 0
PIEARTSE 1,272 2,825| 1,412 1,413 -5 13 0 2 ol -11 7 18 -2 4 6
s 405 774 371 403 0 4 1 2 1 3 4 1 0 0 0
ek a—TH|[ 1,167 1,832 845 987 —6 -8 0 1 1 -8 11 19 0 2 2
e T H 469 779 382 397 0 3 3 4 1 0 2 2 0 0 0
kR =T H 700[ 1,748 821 927 10 16 1 2 1 9 10 1 6 6 0
sk BRI H 411 856 407 449 0 -3 2 2 0 -2 8 10 -3 1 4
ke Etl 2,747 5,215 2,455] 2,760 4 8 6 9 3 -1 31 32 3 9 6
FRIREET 21 53 28 25 0 0 0 0 0 0 0 0 0 0 0
B 748l 1,729 832 897 1 2 -1 1 2 6 8 2 -3 0 3
VEEE 325 731 334 397 1 1 -1 0 1 0 0 0 2 2 0
e — T H 447 1,103 549 554 -3 —4 -2 0 2 -1 2 3 -1 0 1
e T H 408 918 452 466 -2 -5 0 0 0 -3 2 5 -2 0 2
oo B R 855 2,021] 1,001 1,020 -5 -9 -2 0 2 —4 4 8 -3 0 3
P — T H 692 1,419 707 712 -2 -1 -3 1 4 2 9 7 0 0 0
P T H 541| 1,285 604 681 -1 -3 1 1 0 —4 2 6 0 0 0
Ve A Er 1,233 2,704 1,311 1,393 -3 —4 -2 2 4 -2 11 13 0 0 0
P e 320 685 348 337 1 0 -1 1 2 -3 0 3 4 4 0
BEHIR 208 483 256 227 0 1 -1 0 1 2 2 0 0 0 0




